MATH 1100-007 SAMPLE TEST 1 Multiple choice

Sample Test 1

1. Write 67.7 in scientific notation.

(a) 6.77 x 102 (b) 6.77 x 10! (c) 6.77 x 1072 (d) 6.77 x 10~}

2. Factor 3022 — 252 + 24x — 20 by grouping.

(a) 30z —4)(z+5) (b) 30z +4)(x—5) (c) (bx+4)(6x —5)
(d) (5x —4)(6x +5)

3. Factor 12y + 17y + 6 completely. Which of the following is a factor?
(a)y—2 (b)3y+2 ()dy—-3 (d)y+3

4. Factor 25z% — 81.
(a) bz +9)* (b) bz +9)(5x —9) (c) Prime (d) (bz —9)?

5. What is a factor of x3 — 3437
(a) 22 +49 (b)x+343 (¢) 2>+ Tx+49 (d)z+7

22 —15x+44 22— 13z + 12
2 —92+8 22—-Tr+12°

(x+11)(z+12) (22 —152+44) (22 —13z+12) (x—11)(z—12) z—11
(a) “@18)(z+3) (b) (22—9248) (a2 —Tz+12) () @—8)(—3) (d) ==

6. Simplify the product

22 —122435 22Tz
22 — 14z 445 " 22 — 182+ 81

() 315z ) 2+9 (o) =

7. Simplify the quotient

(d) z2+1zzlz+45

4
8. Simplify the difference P16 Pirid
z2—3 22 —3z+16 22 —3z+16 z2+4+3z+16
(a) (@—4)(z+4)(z+1) (b) (z—4)(z+4) (c) (z—4)(z44)(z 1 1) (d) @A) (z4+4) (et 1)

9. Simplify the radicals and collect like terms in 87 + 44/175.
(a) —28v7 (b) 287 (c) 12¢/7 (d) —3V/7
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4
9—+/2

10. Rationalize the denominator in

() BEW2 (1) BobD ()44 () B2
6 8
11. Solve the equation ! —g _ 47_ )

(@) =2 (b)2 (o)1 (d) -1

12. Solve the equation 3.7x + 4.6 — 9.3z = —3.1 — 5.6x + 7.7
(a) No solution  (b) —1.5  (c) All real numbers (d) 0

3 3 2
(a) All real numbers  (b) No solution (c¢) 0 (d)

13. Solve 6x+9:6(1x—l) + 7

1=

14. Sheriff Matt Dillon learns that a wanted criminal has left Dodge City 10 minutes ago,
racing east. He departs to pursue the criminal immediately. The criminal’s horse races
at the speed of 30 miles per hour, whereas Matt Dillon’s horse pursues him at the speed

of 35 miles per hour. How far from Dodge City will sheriff Dillon capture the criminal?

(a) 10 miles  (b) 25 miles  (c) 35 miles  (d) 40 miles

15. Solve |z 4+ 9| — 3 = 6. What describes the solution set best?

(a) No solution  (b) Two solutions, both nonnegative  (c) One solution

(d) Two solutions, both nonpositive

16. Solve |7z 4 3| + 7 = —1. What describes the solution set best?

(a) No solution  (b) Two solutions, both nonnegative  (c) One solution

(d) Two solutions, both nonpositive

17. Solve |z — 2| +5 < 14.
(a) No solution  (b) [=7,11]  (c¢) (—o0,=T7] (d) (—o0, =T7]U[11, 0)
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18. Solve |3z — 8] +9 > 12.
(a) [5/3,11/3]  (b) (5/3,11/3) (c) (—00,5/3)U(11/3,00) (d) (—o0,5/3]U[11/3,0)

19. What is the number of solutions of 2 — 11z + 2 = 0?7 (Use the discriminant!

(a) no solution  (b) one solution  (c) two solutions  (d) three solutions

20. What is the number of solutions of 22 — x + 20 = 0?7 (Use the discriminant!

(a) no solution  (b) one solution (c) two solutions  (d) three solutions

21. Solve 222 —5x+1=0

(a) 51;1@ (b) —5i4\/ﬁ (C) 5i;/ﬁ (d) 544/33
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Solution key:
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